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B.Com. (Part-III) Easmitration,

BUSINESS ENVIRONMENT

(Commerce)

Time-Three Hoursl [Maximum Marks-70

Notc:-(l) All theJive questions are compulsory.

(2) All questions carry equal marks-

l. (a) What is 'Business Environment' ? 4

(b) Give lhe features of Indian Agiculture 4

(c) Explain the intemal components of Business

Environment. 3

(d) Give the causes of backwardness of Indian
Agriculture. 3

OR

(e) Explain the concept of 'Natioml l-ncome'. 4

(f) Slate the importance of'lnvestnent' in an economy.

4

(g) State the external components of Business

Environment. 3

(h) Stste the difference betweer Balance of Trade

. and Balance of Payment. 3
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2 (a) Give the characteristics of lndian Population.
Explain the role of population as human factor
of production. 14

OR

(b) What is Unemployment ? Explain the t)?es of
Unemployment in India. 14

What is Privatization ? Explain the effects of
Privatization on lndian Economy. 14

OR

Explain the Indian Industrial Policy, 2007 in derail.

t4

Explain the concept of Indian Planning. 4

State the impact of Globa.l economic changes on
Indian Planning. 4

Give the objectives of Eleventh Finance
Commission. 3

Give rhe nrnctions of Finance Commission. 3

OR

Wrire the objectives of.lndian Planning, 4

Evaluate in brief l0'h Five Year Plan. 4

Explain the role of Finance Commission in
allocation of resowces. 3

State the recommendations of llti Finance
Commission. 3

5. (q)

(E)

(s)

cs)

(E)

(s)

(T)

c6)

tF+a q*' + rrd +l EsR +1fti | 4

lfil qrqn' qri +r ? 4

'Etsr qqR, i qm frfut r j
':@ $rdq, gMF) + 3?ec smrEi I 3

fiTiIT

?F{fi qrqR es-.t, i 6r{ drdE} r 4

?E++ +r' i e}w <wrEi r 4

'q5 arR' (N-Deal) s1 Frsrr lqse frfri I

3

lft qrcR' i ron srdr{+ r 3

3. (a)

4

(b)

(a)

(b)

(c)

(d)

(e)

(0
(e)

(h)

7
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2. (3r) 'qraftq s-fi@r' +1 EArrdr( sd-dr$ | q]Tff
q-fi + 6q f sfi+l {ft-6r hsR frR} | 14

SItrtTT

F) tn-sfit' qri eiTl ? "nra fr ]r{rrrfr i rrrc
sqrs frffi I 14

3. (q) fi-fi-6-rsr' qri flr ? Frffrrrr + qrcfrq 3r+qseTr

rr *i sra qRqrfr + tqsc frht r t4

SllliIT

Cq) '{rG E1 2007 3HFi-6 {fr ldwTr t "- Tr,
4. (3r) qrcftq ftAqi +1 urcn<r tvsr +1frt r 4

6<; ?Ec-s 3{rPfd qeerq 6T ,TKfrq ft+fi vt sqr4
*qse fr&t r 4

CO '.qrada iff, 3nfrrT' i s?rq sildT+ r 3

Cq 'Ef, qr+rr' + +T{ {f,dT+ I 3

3TCH[

G) "nffic 
Frd-si'' + sltu ftffit 4

(D ffi qT+rEFd trr+' +r s&q I qu+w dBt r

4

(1T) ift qrftr +1 sqrffi + fufirr t XE+r esr
+lfti r 3

1ay wnaa Bf, 3[r+q i gw< rrrt] r 3

UBS-.48546 6 (Contd.)

(a) Explain the functions of World Bank.

(b) What is counter trade ?

(c) Write the advantages of Foreign Trade

(d) State the objectives of IMF.

OR

(e) State the functions of W.T.O.

(f) State the objectives of World Bar*.
(g) Explain the concept of N-Deal.

(h) State the tlT,es of counter rrade.

fnr&nar)
{q-{r :-(l) qrqfr sE{ fi-eBd 3nqs{fi qr (

(2) vd cE{iTr sq]i {q qra-d.

(3[) .qr{flft{ qqf{rq EUri sTq ? 4

(s) qrrfrc ++S aM qirn 4

6+1 eraefu+ qcffi trn szfi Fr6z FIT 3

Cs) 'TR-fE +drqr qrnqiM +]1t P'im. 3

frqr
O Tr"J^tc Eiq;Tt* d+Eq-{r rcE F-e. 4

1m1 q@ft-{ f,dqutfin q-6c" qim 4

fl) qssrfufi qqffi qBrta qes <sE 6n 3

(E) qrcn tq q,TFr r r{ r}sr qnfts qro rqq rn
3

4

4

3

3

5

4

4

3

3

I

i

,l
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2 (3r) qTrffq E)n{+* aM qim. irddreT \'+ Tflr {rd-d
q|{ff q--fi eul1 eT+ Tft-51 tqs. 6rT t4

frqr

G) ffi EElri Frq ? qr. fi-d ffii r+n e..
FII 14

(q) .arqftflq ranril +rq ? qrwffi qTriftq

3rrfiT4Iffird qRo1Tq rqEr 6 {r I 4

frr{r

(s') ET.drn 2007 qtritFrf frrq sEF{ tc.r Fn.
t4

(q) 'rl.frc Fr+qrrfr q-rrr{r rqaz flr 4

(s) qlrrfuf ],TFfu qiarsr qrcffq Frffil cftqrq
(TTT

(s) qrrTfis d+* +d (c6e En

F) gfr EqFra .6uri s,lc ?

(F) Effi EqrqRri sTq? fudr.

(B) }'rT.(F4q gErfifH (rMD :3te flrT
frrsr

(l) wT.o. * rrd flrn.
(q) qrrrPf6 d+rfr BN {Fn.

(rT) sE,E{raff (N-Deal) (.6Eq:IT FqF. fir
(E) sfr Ecrcf(r+ lrFrt qi{r.

(F+rmr)
{fir :-(1) sfr ciq sf{ 3rFBrd e I

(2) {ff eT.i + fi qql{ et
l. (3{) ffi's qq|{q'qri ryr ? 4

(s) .Tr.dq gB .m frirtmrq qildr+ r 4

1+1 .+r+vrfi+ .Ei'E-(],r + ffi q-ee ere +lfii ,

3

19 rrrff+ EEr + eE iT{ i +rer ccsRt r r
frlrqT

(E) tF4q 3llc' +1 rfiFrfl H6. +1ftri I 4

(s) 3r*"F(sir t friri +r qarq q f,C+ r 4

CD ffis qqiT(Er' + qFrfu q-fi qaertt r r
G) qTlra frq qs P r+ iq or t-< e,sa *&i r
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4

4

3

3

5

4

4

3

3

3

4

(s) 31F{Fcr t{f, 3rffi strzn h-€T

(B) Er urffi +d vim

iB'{r

1s1 urr-r t-q]-q+rf sfrEci ft-El

(q) Err.ql rrq-ufls ffii e+strn {qcl[: d{r

(E) i[rrrqr A-d qr+rnqr 1M qrrn

4

4

3

3

4

3

3

(:r) (sruriqr elzwffd ft-f, 3nMr Tft.+r rqF.
s{T
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